X, =~ HX, xi = W™Q

Niets Nu  pPs[GeV] N;%p N¥;  background predicted ~observed 800,100 425 150 225, 75

125-200 63 05 69+13 8 0.08+0.02 20+04 26408

0 200-300 24 1.0 34+0.6 2 03+£01 45£07 29+£0.6

2 300400 03 07 1.0£03 1 03+01 21+£04 03+£02
> 400 0.02 0.3 0.3+0.1 1 05+£02 04+£03 <0.01

1 125-300 16 0.7 25+09 3 05+£01 39£07 28+£1.0

> 300 04 05 09+0.5 1 26+04 43+08 14+04

125-200 175 02 178 £3.0 17 0.05£0.02 1.0+02 29+06

0 200-300 71 0.7 78+17 6 0.14£003 26+03 21£05

3 300400 08 07 1.5+0.5 0 0.18+0.04 12+04 04+04

> 400 02 03 05+0.3 0 03+01 0340.2 0.06+£0.06
1 125-300 50 08 59+21 10 04+01 26405 20+£0.6
> 300 1.7 03 21£16 0 15+02 24+£05 06402



